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Immediately fill in the particulars on this page of the Test
Booklet with Blue/Black Ball Point Pen.

This Test Booklet consists of three parts - Part I, Part II and
Part III. Part I has Aptitude Test has 50 objective type
questions consisting of FOUR (4) marks for each correct
response. Part II 30 objective type questions of Mathematics
consisting of FOUR (4) marks for each correct response.
Mark your answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use Blue/
Black Ball Point Pen only for writing particulars/marking
responses on Side-1 and Side-2 of the Answer Sheet. Part III
consists of 2 questions carrying 70 marks which are to be
attempted on a separate Drawing Sheet which is also placed
inside the Test Booklet. Marks allotted to each question are
written against each question. Use colour pencils or crayons
only on the Drawing Sheet. Do not use water colours. For
each incorrect response in Part | and Part 11, one-fourth (V)
of the total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

There is only one correct response for each question in Part I
and Part II. Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.
The test is of 3 hours duration. The maximum marks are 390.
On completion of the test, the candidates must hand over
the Answer Sheet of Aptitude Test and Mathematics-Part I
& II and the Drawing Sheet of Aptitude Test-Part III
alongwith Test Booklet for Part III to the Invigilator in the
Room/Hall. Candidates are allowed to take away with
them the Test Booklet of Aptitude Test-Part I & II.

The CODE for this Booklet is N Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet.
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Part I / ¥ 1
Aptitude Test / Tfr&far iteror
Directions : (For Q. 1 to 6). Find out the total number of surfaces of the object, given below in the

problem figure. http://www.iitscholars.com

FEor: (9.1 @6 & @) T 3FT § (e ag 4 Tagl #1 Fel & FT HITT |
Problem Figure | F97 S7Ihid

1) 14 @) 13 3) 15 4) 16
2. %

1) 11 2) 10 3) 13 4) 12
3. %

1) 13 Q) 14 3) 15 4) 12
&

1) 14 @) 15 3) 11 4) 12
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Problem Figure / F¥7 37Ild

1) 17 @) 16 3) 14 4) 15

—~
—_
~

Directions : (For Q. 7 and 8).

fEor: (0.7 30T 8 & forw )|

Problem Figure / F97 37Ild

14 2) 13 3) 15 4) 16

One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, which one is correct ?

T4 &1 7 I Pl 7 7 T 3T 99 SR v F gaT w9 @
Tv7 SFlT @ fodt &1 @7 & wet & g

Answer Figures / 3T ST

(1) (2) €)

—~
=
N—

8. 7 <) A o

(1) (2)

—~
w
N—
—~
N
N—
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Directions : (For Q. 9 and 10).  The problem figure shows the top view of objects. Looking in the

direction of arrow, identify the correct elevation, from amongst the
answer figures.

Ao : (W9 3iv10 & f@) 1 797 s7rfd & awqail o7 S0 g9 @ 77 &1 ) &1 e & da
U R Sl 4 & 9% g TG §v9 Tgalq/

Problem Figure / F97 37Iehid Answer Figures /| 3T 3-77?:7%/27?'

o | =0l AT (L

EDD
T

AN
§§O e b

T

- T

3) (4)
N/Page 4 SPACE FOR ROUGH WORK / T% &4 & felg smre
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Directions : (For Q. 11 to 14). Find the odd figure out in the problem figures given below :
Fdor: (w11 Q14 & fam) 79§ 7 597 srplaal & T fa9m sl sard |

BB 4

©) (2) 3) (4)

== 1NN
12. \J\I\I\ \1\]\]\

0 @) 3) (4)
13. Q—K ‘)_é :
) 2) 3) 4)
O N L
1) ) @) 4)

Directions : (For Q. 15 to 17). The 3 - D problem figure shows the view of an object. Identify, its correct
top view, from amongst the answer figures.

ST : (.15 @17 & @)1 3 - D 97 3nFfd & o &g 1 @ 777 &1 597 T8 R g9, I

STFla 7 @ EEng
Problem Figure /| Fo7 STHld Answer Figures / 3T 377357%277“
15. ] ]
(1) () @) (4)
N/Page 5 SPACE FOR ROUGH WORK / T% &4 & felt smre

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education

Problem Figure /| F¢7 3Tl Answer Figures / 3 ST

16. [ [ [

1, — = L —

(1) (2) ®) (4)

Directions : (For Q. 18 and 19).  The problem figure shows the top view of an object. Identify the
correct elevation, from amongst the answer figures, looking in the
direction of arrow.

fAdor: (7. 18 319 & fo@ )1 397 s7rhfa & fardt g &1 9% g9 fe@rar 14 &1 @i} &1 feon &
3G §U I AHlaal § T 39 Tel TGE GVT T

Problem Figure / Answer Figures / I STH1dal
T SFIT

- (O

} M @ ©) @
-0 L

L [ ] | | L]

} M @ ©) @

N/Page 6 SPACE FOR ROUGH WORK / T% &4 & felg smre
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Directions : (For Q. 20 and 21).

ot : (W 20 3721 % fow )i

20.

Directions : (For Q. 22 to 25).

o : (W22 @25 & @)

Problem Figure / 97 3hld

22.

23.

How many minimum number of straight lines are required to draw
the problem figure ? http://www.iitscholars.com

79 & T FIT SFT B T F 7T F7 G FH, fhaar diet s
T STITHAT & 7

Problem Figure / 97 STIld

1) 20
@ 9

&

21 3) 18 4) 19

12 3) 11 4) 10

The 3 - D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking in the
direction of arrow.

3-D J¥7 31T § T 9% & T §VT H [*@rF T &1 7Rk F e
7 38 §U, 39 Tl GHgE §vF Pl I SFHaEl 7 d TgAT |

Answer Figures / 3tX 3777?"7?1?#

] ] ] H
| || [ |
(1) ) (3) 4)
H 0= HH HH
(1) 2) ©) 4)
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Problem Figure / 97 STIld Answer Figures | ST STl
- ] [] [T ]
- L] [ ] [ B
1) @ (3) 4)
<>
HE
-2 @ @ @ @
Pl L[] [

1) ) ©) (4)

Directions : (For Q. 26 and 27). How many total number of triangles are there in the problem figure
given below ?

T : (726 327 & fo@) 1 79 51 7 797 spla F Ay #1 For G& fhat & 2
Problem Figure / J37 ST

26. |\

1) 10 2 9 (3) 11 4) 12
27.

1) 11 2) 14 (B) 12 4) 13
N/Page 8 SPACE FOR ROUGH WORK / T% &4 & felg smre
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Directions : (For Q. 28 to 30).

Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ? http:/lwww.iitscholars.com

FEor: (W28 @ 30 & fo@) 1 3R sTbfaa & @ il STl &1 7T F97 STFT 71 X - X G Garerd
Tet g1 gfaferey & 7
Problem Figure | 7 STid Answer Figures /| 3 377?’7%/2#'
X
28.
X
@) 2 ) 4)
X
X
@ (2) ®3) (4)
X
| | | | |
30.
| . | | | |
@) 2) ©) 4)

Directions : (For Q. 31 and 32).

T : (.31 332 & o)

Problem Figure | 97 STld

The problem figure shows the elevation of an object. Identify the
correct top view from amongst the answer figures.

T STIIT H 551 a5 1 THE 599 Q@7 T 81 SR SHhlaan 5
T 5991 T&1 FWI g¥F YEAN-u |
Answer Figures / St 3Thlaar

- M

2
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Directions : (For Q. 33). Which one of the answer figures will complete the sequence of the three
problem figures ?

FEor: (W33 & @)1 S sraiadl & @ ®i7 & sipla &1 a7 §97 3Tplad § o @ 37959
(sequence) T & ST 2

Problem Figures / F97 Tl Answer Figures |/ ST SHlaar
» %A % i %A A@
1) 2) ©) 4)

Directions : (For Q. 34 and 35). Which one of the answer figures, shows the correct view of the 3 - D
problem figure, after the problem figure is opened up ?

fdor : (734 335 & f7@) 13- D §97 3717 &1 @i W, ST STFTT 4 G T&T g9 FHiT T8 ?

Problem Figure / F97 37Iehid Answer Figures /| 3T 3-77?:'7%/2#

N E N E I

—
—_
N
—~
N
N
—_
W
N—
—~
>
N—

35.% D GEY GHY G0

@) 2) )
N/Page 10 SPACE FOR ROUGH WORK / T% &4 & felg smre
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36.

37.

38.

39.

40.

What is texture ?
(1) Lines drawn in one colour
(2) The way a surface looks and feels

(3) A solid colour
(4) A type of shape

What secondary colour is obtained by
mixing blue and red colours ?

(1) Orange
(2) Brown

(3) Pink

(4) Purple

Which one of the following material
cannot be used in its original form for
construction of walls ?

(1) Laterite

(2) Granite
(3) Fly ash
(4) Basalt

Which one of the following is an odd
match ? http://www.iitscholars.com

(1) Shrinking Polar Caps - Earthquake
(2

3
4

) Tsunami - Oceanic Earthquake
)  Deforestation - Climate change
) Ozone layer - UV rays

Why do large industrial buildings have

high located glazing on the North side ?

(1) To get uniform shadow - less light
through the day.

(2) Because the sun stays on the North
side throughout the day.

(3)  To getbright sunlight throughout the
day.

(4) To stop the workers from looking
outside.

36.

37.

38.

39.

40.

Teafd Fm R ?

(1) U T H e T @

2) o7& T T fewdt oK weygy B
g

(3) Tk IH A

(4) T TE T ATHR

Tt SR e T 1 e § fHerm | s
Tiror (secondary) ¥ T ?

(1) A

(2) @

(3) T

(4) s

el &l s % fog, fFrifea § @ S
Tl SO q SRR § TEAHT Tl fRar S

(1) HEE (oeEe)

(2) e

(3) TR W

(4) SR

fre=ifera B @ S99 9g=@ B TRl @ ?
(1) Waﬁﬁﬁq@.—%q

(2) GAH - HEEERE g

(3) oH-STAUV - ey IrEd

(4) SISIH 1 wa - .. fReo

I AT SARGT | 991 o1 S foen # 3=
TR R R A S S ?

(1) 91 T T 99 fod =7 o Aert 9
& fag
2) s g SR few § ww o7 war @

(3) I feA g =t o1 It 9 & fag

(4) M H ST I AR @A G Tk &
fee
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41. Which one of the following is a sound | 41. 378 § ®F-41, af qedt el 22
reflecting material ?
(1) Glass (1)
(2) Fabric (2) =USl
(3) Thermocol (3) oA
(4) Jute cloth (4) HZHT T hUEl

42. Which one of the following is not a | 42. f¥=iferd H ¥ H-91 9= A T @1 ?
matching set ?
(1) Egypt - Mississippi River (1) fre - faehfad sfen
(2) England - 10 Downing Street (2) A€ - 10 THHT Eie
(3) San Francisco - Golden Gate Bridge (3) T wifaE! - Teed e fost
(4) Washington - White House (4) ST - =3 BH

43. Lotus Temple in Delhi was built by : 43. fooedl 1 cied Af< fhee o o1?
(1) Bahais (1) =mesdiA
(2) Muslims (2) TEfaH A
(3) Jews (3) e A
(4) Jains (4) SfEiR

44. Who among the following is not an | 44. Eﬁﬁﬁ?—mwﬂﬁ%?
architect ?
(1) Hafiz Contractor (1) THES FHITFHRR
(2) Raj Rewal (2) TS @
(3) Zaha Hadid (3) mwEIEEIR
(4) M.F. Hussain (4) TAUE. gHA

45. Which one of the following is not a | 45. T¥=iferd H 9 ®F-91 9= A el @ ?
matching set ?
(1) Jaipur - Canals (1) SR - T
(2) Udaipur - Lakes (2) AR - EI|
(3) Sundarbans - Mangroves (3) g - BEEDIC]
(4) Varanasi - Ghats (4) IR - e

N/Page 12 SPACE FOR ROUGH WORK / % &T& & fau sg
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46. Which one of the following is not an | 46. f=iifd =i § @ HH-T1 by fadige €2
earthquake resistant structure ?
(1) Steel framed building (1) =Ia % %8 ¥ o AR
(2) Timber framed building (2) WSk WH H oA 3HRA
(3) RCC framed structure (3) STRELEL. T &1 gl
(4) Load bearing brick walls building (4) 9R T ATl 321 i SR i $ARG
47. Which one of the following is an odd | 47. ‘&""Iﬁﬁ HE-HT qq= el &l @1 ?
match ?
(1) Temperate - Shimla (1)  ¥fdrs (Temperate) - Tt
(2) Hot and Dry - Jaisalmer (2) ™H 3R et - SR
(3) Hot and Humid - Chennai (3) ™H 3R 79 - <18
(4) Cold and Dry - Ladakh (4) 31 AR g@I - AEE
48. Green architecture is promoted these days | 48. 37 fai R am&geren =i Yrcamed faan S g
because : Hifeh :
(1) It lasts longer (1) IT X TH @1 ©
(2) Greenis a good colour (2) TOTS =1 ?
(3) It costs less initially () =HH oy H %Y @ el §
(4) It is environment friendly (4) IE A & AR ?
49. Buckingham Palace is located in : 49. afshem Yorg wel feod § 2
(1) Geneva (1) SHenH
(2) Singapore () famRH
(3) Paris (@) UmH
(4) London (4) WA H
50. Fatehpur Sikri was built by : 50. Thdgq HIhd I SR o
(1) Humayun 1) TEA
(2) Shah Jahan (2) vmESRIA
(3) Jahangir (3) SEFRA
(4) Akbar (4) STHeR A
N/Page 13 SPACE FOR ROUGH WORK / T% &4 & felt smre
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51. If f(x)= e
) 14 ¢

f@

I = j x gl x (1-x)} dx and
f(-a)
f(@)

I, = J. glx (1-x)} dxl
f(-a)

52.

where g is not an identity function. Then

I
the value of 1. is:
1

M 1
@ -1
6 5
4 2

If the point (p, 5) lies on the line
parallel to the y-axis and passing through
the intersection of the
2@?+1)x+by+4@a3+a)=0 and
(a2 +1)x —3by +2(a®+a)=0, then p is
equal to :

lines

(1) 2a

51.

52.

ex

1+ €

gfe f(x)=

7

f@)
[ xglx(=x))dx qen
f(=a)

f(@)
I = I glx (1—x)} dx £
f(=a)

. , I
SRl ¢ T dqeqTF Hod el €, fwvm

1 1
2 -1
1
G 3
4) 2
e 63 (p, 5) T T W feo@ 3 S y-o199 &
HHTAT ? GEI EECIE
2@+ )x+by+4(a3+a)=0 qn

(@ +1)x —3by +2(a> +a) =0 & Ffqesg fog
Y BT I Fﬁpﬂn‘[ﬂ'ﬁ%:

1) 2a
(2)  3a (2) 3a
®) —2a (B) -2a
(4) —3a (4) —3a
N/Page 14 SPACE FOR ROUGH WORK / % &T& & fau sg
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53. The area bounded by the curves y2=12x | 53. ashl y2=12x q1 x2=12y % = foR &=ma
and x2=12y is divided by the line x=3 in W, X@1 x=3 §R T W § Fiel T g1 a2
two parts. The area (in square units) of the T T SA%A (T T H) T
larger part is:
(1) 137/1 (1) 1374
2 245 2 24
e ¢ 7
@ @

54. 1If z is a complex number of unit modulus | 54. 3 z T WY HeA ® et wraies 18 den
and argument 6, then the real part of ) z(1 — z) -
-7 We%,aﬁz(lJrz)quwlq%m%:
Z(1+z) %"
(1) —2sin® g (1) —2sin? g
2 2 cos” % 2 2 cos? g
3) 1+ cos — 3) 1+ cos —
(4) 1-sin g 4) 1-sin g

55. If the roots of the equation 55. i FHHW

1 1 1 ' ' t 1.1 . .
x+p+x+q_r are equal in magnitude x+p x+q T % T& i # §AE § a0
and opposite in sign, then the product of foadia fo=ei & €, @ Jaii 1 A% § -
roots is :
1 1
m -5 (P*+q?) m -5 (p*+q?)
1 1
@ -5 @) @ -5 @®-a)
@) P+ @) P+
1 1

@ 5 (p>+q*) @ 5 (p*+q%)

N/Page 15 SPACE FOR ROUGH WORK / T% &4 & felt smre
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1 k
56. If S =(0 1} , keN, where N is the set of

57.

natural numbers, then (S,)" (Sk)_l, for

neN, is :

1) S,

(2 Son—k

B) Swm+k-1
@) Sy

. - - -
Unit vectors g, b, ¢ are Coplanar.

%
A unit vector d is perpendicular to them.

If(;xg)x(?x3)=%?—%?+%£

- -
and the angle between 4 and b is 30°,

%
then ¢ is/are : http://www.iitscholars.com

AN AN A
—i+2j -2k
+

1
M .
i -2+ k
2
@ ;
A A A
—i 2] + 2k
(3) - 3
A A A
2i +j -k
) 3

56.

57.

Ifq 9T d FEAe & ¥q=E N & fag

sk=(1 k], keN 2, @ neN & fau

01
CHRCHRRLE
M Sy,

(2 Son-«k
G San+k-1
(4) Sy g

T AR, p, ¢ OHded § 1 T A

7

Ifg

(;x;)x(?x2)=l/z}—l?+li%
6 3 3

- .
gfesr 4 S99 Ul d9ad 2

A o A b F A H R, A ¢
%/%:

A A A
0 L -i+2) -2k
B 3
2A' ZA' 2
=21 — 2]+
2
) 5
A A A
L —i =2 + 2k
G = 3
AN AN A
2i +j— k
3
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58.

log,2, log;y (2*—1) and log;, (2¥+3) are

three consecutive terms of an A. P. for :

exactly two real x

more than two real x.

no real x

exactly one real x

The locus of the mid points of the chords

of the parabola x2=4py having slope m is

line parallel to y=mx, m=0 at a
distance [2pm| from it.

circle with centre at origin and
radius |2pm|.

line parallel to x-axis at a distance
|2pm| from it.

line parallel to y-axis at a distance
|2pm| from it.

58.

59.

x & fhad 7l & fag log,2, log;, (2 —1)
qllog, ) (2% +3) T HHIMR HE1 o T HATT
g2

1)

x % Had al Al A & feu |

x % 3§ AT ardfas A & faul

x % fodt oft arafas 7 & fag 72|

x & Hhad Tk ardids IH & fag|

R 12 = 4py T Stanst, T @A m T,
o A& fogal o1 fag uv .

4)

y=mx, m#0 % THA @1 § a1 394
|2pm| 1 T W R

T 99 ¢ e #g qa foig & qen o
[2pm| ®1

Teh T § ST x-3787 o IR € 997 SE4
|2pm| =1 T W R

T @1 § S y-3787 o WA § T 394
|2pm| =1 T/ W R

59.
a:
1)
(2)
®)
4)
N/Page 17
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60. A variable plane is at a constant distance | 60. T T HAIA Hafdg O ¥ Tk =R gl p W
p from the origin O and meets the set of @Al § SR eI el & Th 9=
rectangular axes OX; (i =1, 2, 3) at points OX; (i=1,23) ED| %!T\{,Bﬁ A; (i=1,23 W
A; (i=1,2,3), respectively. If planes are FAY: Ufdese & 81 Ife Al Ay, Ag 7
drawn through A;, A,, A;, which are ﬁﬂmﬁwﬁ%wﬁ?w@%aﬁ% Kl
parallel to the coordinate planes, then the % giaese fog #1 fog ua ¢
locus of their point of intersection is :

1+1+1_1 1+1+1_1
3.3 T 373 33 37 3
@ 1o Y2 X3 P @) T ¥ X3P
2) xf + 3 +x3=p° @ o+ +a3=p’
1, 1,11 1,1, 1.1
©) Y1 Y2 A3 p G) X1 X2 X3 p
R B
(4) x% x% x% p? (4) x% x% x% p?

61. Consider the differential equation, | 61. 3TIHAT FHIHIT ydx — (x +y2)dy=0 T
ydx— (x+y?)dy=0. If for y=1, x takes foem ST afq y=1% faT x =1 71 1%,
value 1, then value of x when y=4is : Wy=4F fACxFTAAT :

(1) 36 1) 36
(2) 64 (2) 64
3 9 G) 9

(4) 16 4) 16

62. Let f(x)=|x—x;|+|x—x,|, where x; and x, | 62. FFI flx)=|x—x,|+]x—x,| T, Eid} Xy AT x,
are distinct real numbers. Then the ﬁfﬂﬁwj\?@ﬁ% ?ﬁ‘o‘?ﬁ@@ﬁaﬁw
number of points at which f(x) is minimum, ISERTS f(x) <61 | —FAdH %, ?:
is:
¥ 3 ® 3
(2) more than 3 (2) 39 Ifu®
@) 1 @) 1
4) 2 4 2
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63. If a circle has two of its diameters along | 63. 3l T Id * I =AW WA x+y=>5 qAl
the lines x+y=5 and x—y=1 and has x—y=1a%34§ﬁrm%ammw &AFA 9 B,
area 9, then the equation of the circle is : @ I I HT FHHO T
(1) x2+y?—6x—4y+3=0 (1) x2+y’—6x—4y+3=0
(2) *+y?—6x—4y+4=0 (2) X*+y’—6x—4y+4=0
(3) x?+y’—6x—4y—3=0 (3) x?+y’—6x—4y—3=0
(4) x?+y’—6x—4y—4=0 (4) x>+y’—6x—4y—4=0

64. Suppose that six students, including | 64. ¥ : forenfer, fo=d ay qon g0 whwfad
Madhu and Puja, are having six beds g % U us Ufed H afed ©: fawm g
arranged in a row. Further, suppose that 3R 7y, ST o e atel foea) T2 =medt, @
Madhu does not want a bed adjacent to S Tl 9 =g foeay fomnfeai =01 fqu
Puja. Then the number of ways, the beds Tehd %, TR AT
can be allotted to students is :
(1) 600 (1) 600
(2) 384 (2) 384
(3) 264 (3) 264
(4) 480 (4) 480

1 a b 1 ab
65. In a AABC, if |1 ¢ 4=0, then |65. T& AABCH, afT |1 ¢ 4=0 %, @
1 b ¢ 1 b c
sin2A + sin?B + sin?C is : sin?A +sin?B +sin?C € :
1 2 1 2
3v3 3V3

2 — 2 N
@ = o =
3 3 2
6 3 S
y 2 o 2
O S
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66. Let P be a point in the first quadrant lying | 66. HIMI P, 9&H Tquter 1 T foig € S < 9m
on the ellipse 9x2+16y2=144, such that 9x2+16y2=144 R Teoq § o ¥ g9 &
the tangent at P to the ellipse is inclined at %@ P W @i TI'&‘ o9 TG x-37&T T IATHER
an angle 135° to the positive direction of foen & |1 135° T HI0 IAGH §, A P H
x-axis. Then the coordinates of P are : frdanas €
4 3 4 3
O \z A N-RaN;
16 9 16 9
2 |55 @ 1535
V143 1 V143 1
G | 7 G |7
3 3 4
8 77 8 77
@ |93 @ |95
-4 y—-2 z-—\ «x—4 y—2 z—N\
67. If the lines T - 1 " 3 and | 67. 3Afc @M T ST T 3 aodn
+2 +2 .
% =7 > = i intersect each other, then % =Y > = i W’(Q’Fﬂ%ﬁ%, CIPNEE
\ lies in the interval : e | fee %, T|E
(1) (11, 13) (1) (11,13)
@ 6 11) @ 61
®) (=5-3) G) (=5-3)
(4) @13, 15) (4) (@13, 15)
68. Sum of the last 30 coefficients of powers | 68. (1+x)% % fgug TOR # 21f<a9 30 9= & x !
of x in the binomial expansion of (1 + x)°? HTd1 o T[T 1 AT R
is :
(1) 259 _ 929 (1) 259 _ 929
(2) 258 (2) 258
(3) 2% (3) 229
(4) 228 (4) 228
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69.

70.

71.

f(x)=|x log, x|, x > 0, is monotonically

decreasing in :
1) @, e
2) (e,=)

@ (03]
@ [e1]

If _[1 5szn2x = f(§)+C,then
cos® x sin®x cos” x

flx) is http://www.iitscholars.com

(1) cotx

(2) —cot x

(3) —cosec x

(4) cosec x

Let p and g be any two propositions.

Statement1: (p > q) <> gv ~pisa

tautology.

Statement 2 :
fallacy.

~~pAgApvg o pisa

(1) Statement 1 is true and statement 2
is false.

(2) Statement 1 is false and statement 2

is true.

(3) Both statement 1 and statement 2 are

true.

(4) Both statement 1 and statement 2 are
false.

69. f(x)=|x log, x|, x > 0 5@ e & THice

FHAFE, TET :
1 (A,e
2) (e, =)

5 (o)
o Lo

m|r—\

70. aﬁ:j—l DS e f(g) +C % @
Cos X sin— Xx cos X
f(x) TR T
(1) cot x

2 —cot x

4 cosec x

(2)
(3)  —cosec x
(4)
71. HE p T g IS S |eA |
HIT1: (p > q) <> g v ~p TH [T ¢

HIT 2 :
7

(1) HYF 19 T T FHAA 2 3T0A T

~(~p A q) A (p v q) > p T TATTH

(2) HUA1 ST § T FHUYA 2 FA T

(3) U 1T FHF 2 THI TA T

(4) A 19 HUA 2 I 3TEA € |
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72. Let -~ <0< and 72. AR <0< T ETe
2 cot 0+ —— =K~ cot 8 2 cot 0+ —— =K — cot 6 g,
sin“0 ’ sin“0
then K is equal to : A K SR §
COIZ O?
2 1 2 1
G -1 G -1
4 0 4 0
73. A vertical pole stands at a point A on the | 73. 551 a0 T Jeita ek i qfiE | feod
boundary of a circular park of radius a and foig A W TH AR T Gl § S aiE
subtends an angle « at another point B on % T 319 fig B W ®I0 o 3fala &
the boundary. If the chord AB subtends Ffq Sftam AB I Teh oh hg T I o HARA
an angle « at the centre of the park, the F T, A T BT SE
height of the pole is :
.o .
2 — cot 2 — cot
(1) a sin cotec 1) g sin= coter
(2) 2a cos% cota 2) 2a cos% coto
(3) 2a sin% tana (3) 2a sin% tana
(4) 2a cos% tana 4) 2a cos% tana
74. If 74. A€
48 47 46 2 1 48 47 46 2 1
— =+t —— + —— —+ =+t — + ——
23 34 45 48.49  49.50 23 34 45 48.49  49.50
51 1,1 1 51 1,1 1
= +K[1+=+2+ -+ = = +K[1+=+=+ -+ —
2 ( 2 3 50 )'then 2 ( 2 3 50 )%'?ﬁ
K equals : K &R ®
1 1 1 1
2) 2 2 2
G -1 G -1
@ - @ -
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75.

76.

77.

If f(x) = (x—=p)(x—q)(x—r), where
p < q < r, are real numbers, then the
application of Rolle’s theorem on f leads
to:

1) (p+q+n?<3(gr+rp+pg)
@) (p+q+n3@qr+rp+pg)=3
(3) (p+q+r)?=3@r+rp+pq)
4 (p+q+n)*> 3(qr+rp+pg)

o i >2
Let f(x)={ M ,
a+ b if x <2

then f(x) is differentiable at x= —2 for :

(1) a=iandb=—%
(2) azzandbzi

(3) azgandbz—%
(4) a=—%andb=%

Let flx)=(x+1)2—1, x= —1, then the set
fr fo=F10} -

(1) contains exactly two elements
(2) contains more than two elements.
(3) is an empty set

(4) contains exactly one element

75.

76.

77.

afe fx)=(x-p)(x —q)(x —r) &, W&l
p<g<raEdas T ¥, 9 f WIS H
T % YA § fHerd

(1) (p+q+n?<3(gr+rp+pqg)
2 (p+g+n)gr+mp+pg)=3
3) (p+q+n?=3(r+rp+pq)
4)  (p+q+n)*> 3(qr+rp+pg)

L ?Tﬁ{|x|>2

m f(o=1 [
a+ bx? q’ﬁ‘{|x| <2

g @ x= -2 W fx) STHAA T, AT :

1 1
= —dAMb=— —
1 a=7

16
(2) azzﬂiﬂb=%
(3) azgﬁi’ﬂb:—%
(4) a=—i?‘|’9ﬂb=%

A fx) = (x+1)2-1, x= —1 %, @ =
s foo=F"1(0)} -

1) ¥ Fad < TaFd

(2) " F AfF 1T ¥

(3) U o W= €|

(4) ¥ Fad TH 9T T
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78.

79.

80.

If the mean and the standard deviation of
10 observations xy, x,, ...... , Xg are 2 and 3
respectively, then the
(x;+ 1)2, (xp+ 12, ... , (x10t 1)2 is equal
to:

mean of

1) 16.0
2) 18.0
(3) 13.5
(4) 14.4

Let N be the set of natural numbers and
for aeN, aN denotes the set {ax : xeN}.

If bN N cN=dN, where b, ¢, d are natural
numbers greater than 1 and the greatest
common divisor of b and c is 1, then d

equals : http://www.iitscholars.com

(1) bc

(2) b+c

(3) max{b,c}

(4) min{b,c}

A biased coin with probability

p, 0 <p <1, of heads is tossed until a head
appears for the first time. If the probability

that the number of tosses required is even

is % , then pisequalto:

78.

79.

80.

Tfg 10 F&UM Xy, Xy, woovvey Xy T HIET qAT
9w fgwdd w9 2 991 3 8, @
(x;+ 12 (ry+1)% ... , (3c10+1)2 1 HIEY

g

(1) 16.0
) 18.0
3) 13.5
(4) 14.4

AT N WThd &3 1 9= € a1 aeN &
fow aN wq= {ax : xeN} T 1
"’Tﬁ{bchN=dN%, G|%Tb, c,d 19 EE:T
Wiehd GEAT € 99T b AT ¢ 1 WETH HHISIR
1%, IR E

(1) bc

(2) b+c

(3) max{b,c}
(4) min{b,c}

s afyaa faswt, faaq fax a1 &t
HIfeRdl p, 0 < p < 1%, 79 e STl Sl &,
el qeh foh Teell ar foa = 1 se | 4fe 38t
T YITE T G&AT 99 g9 w1 grfaearn

24 % @ pERE :
™ Y
@ %
® ¥
@ %
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